The owner of a mobile phone charges his customer 25% more than the cost price. If a
customer paid 8,000/- for a mobile phone, then what was the cost price of the mobile?

(1)  Rs. 5600 (2) Rs. 6000
(3)  Rs. 6400 (4) Rs. 7000

TETEE B T T AEE 8 0 geF # 256% AT o9 2 | 3R a4 mrEne wE % e 8,000/-
FUU ] I A1, 7 AEIEE AT o d 741 917

(1)  5600/-#70 (2) 6000/ 77
(3)  6400/- ¥ (4) 7000/- 7um

[Question ID = 2599][Question Description = Q21_GP_24NOV_51_SHAAN_5hift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
| 3. 3[Option ID = 10395]
4. 4 [Option 1D = 10396]

Correct Answer :-



17) .
In the letter series

B B iF s
What is the next letter?
(1) L 2 Z
3 P 4 X
B.H.R.F. ..........%F %9 O 3070 98T FE-91 Zrm 7
() L 2 Z
3 P 4 X

[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
| 4. 4 [Option ID = 10400]



Given the relationship between variables Y and X : Y = X2: if X changes by 6%. What is the
percentage change in Y?

(1) ~36% 2 ~12%
3 ~8% 4) ~6%

Y 3 X% o 1 599 Y=X* F =9 9 2| 3% X § 6% F 9a 7, @ Y q 9w\ (%) T 7

(1) ~36% 2 ~12%
3 ~8% @ ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10401]
| 2. 2 [Option ID = 10402]
3. 3 [Option ID = 10403]
4. 4 [Option ID = 10404]

Correct Answer :-
® 1 [Option ID = 10401]



19) A man travels in a car from point A to point B and covers a distance of 120 km. During the
first 40 km. the speed of his car is 50 km/hr and for the rest of journey the speed of his car is
60 km/hr. What i1s the average speed of his car from point A to point B?
(1) 55 km/hr (2) 54.25 km/hr

(3) 56.25 km/hr (4) 58.25 km/hr

v =fFa fig A | fig B % w9 120 fremdize 41 70 %0 & 79 %@ 2| %0 v 40 frende % 2ne
a1 W 1 i 50 fherdter wfd ger ot 3 9 g % o 60 fRemdier wiawzr, @ fag A @ fag B# =
ol = i AAiEE wia w2

1) 55 f.91./a21 (2) 54.25 . A1./m2
(3)  56.25 fFdi. /b 4 58.25 . A /g

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1 [Option ID = 10405]
2 [Option ID = 10406]
3 [Option ID = 10407]

4 INntian IN = 104081

A



20) In the series

B N |t

What is the next term?

(1) 12 2 15
3 18 @ 20

1.8.6. 10, ......... & %4 4 3T HF 7

1 12 @ 15
(3 18 4 20

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option 1D = 10409]

| 2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]

4. 4 [Option ID = 10412]



16)
Sagun purchased a smartphone at 9/10% of its selling price and sold it at 8% more than its
selling price. Her gain is
1 10% @ 12%

(3) 18% 4) 20%

WA A T e T SEh [5A ged % 9/104 goA W @iiEl a4 36 s (8sd oA & 8% sAfus u s |

IOF @ 2
1 10% @ 12%
3)  18% 4 20%

[Question ID = 2699][Question Description = Q21_GP_Set8_5S1_5Shift2]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]
3. 3 [Option ID = 10795]
| 4. 4 [Option ID = 10796]



17) If CHARCOAL 1s coded as 45164913, how will vou code COALCAR?

(1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

7tz Fz 9 5 CHARCOAL i 45164913 fom@n 7m0, 71 COALCAR #1 1 w=m foran smom?

(1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
| 4. 4 [Option ID = 10800]



Looking at a photo of a man, Ravi said, ‘His mother is the wife of my Father’s son. I have no
brothers and sisters’.
At whose photo was Ravi looking?

(1) His Cousin (2) His Son

(3) His Uncle (4) His nephew

el qvm % W21 F 706 TEw T A wE, CIEH W W fUd F qg o us 2 ) u RS W A s
G N PR A ey

(1) 39 == 915 /5w () (2) WA
(3) 9 == (4) 7 wfrn

[Question ID = 2701][Question Description = Q23_GP_Set8_51_5Shift2]
1. 1 [Option ID = 10801]
| 2. 2 [Option ID = 10802]
3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]



U1VEDN DELOW aAre TWO STartelmnents :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly,

then it is called compound interest.
Statement I : The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement II is false

(4) Statement I 1s false but Statement II 1s true

= =1 oA 2o o 2 -

FwH (I): 3 fh safy % foo ™ =0 w s i o oF qeE oA 2, @ 9 s gt =

FEeT 7 |
Fom (D) : frcht smafa & fom s oft 1 svorn oo 6 1t wefon vy = et 21
IHF T F AT °, A9 &2 0 e § @ w9 I = i
(1) = [ i = & £
(2)  =uA [ i 2 5= e 2
(3) = [== 2, A Fom [ 5me 2|

(4) FHE[ A ?, A FA I FFE |

[Question ID = 2702][Question Description = Q24_GP_5et8_51_5hift2]
1. 1 [Option ID = 10805]

| 2. 2 [Option ID = 10806]
3. 3 [Option ID = 108071



Tio: I T i T

(A) The sum of first forty five natural (I 19
number is

(B) The least prime number is (I 75

(C) The total number of prime numhbers (IIT) 1035
lesz than 70 1s

(D) On dividing 4150 by a certain number (IV) 2

the quotient 1= 55 and the remainder
is 25. The divisor is

Chooze the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(I0). (B)-(I1I). (C)-(I). (D)-(IV)
(A)-(TIT). (B)-(IT). (C)-(IV). (D)-(T)
(A)-(III), (B)-(IV), (C)-(T), (D)-(II)
(A)-(II), (B)-(IV), (C)-(III), (D)-(T)

i1 % @19 g1 = foemm Fifaw 39 wn Fifse & a9 @ s

(A)
(B)
(©)
(D)

(1)
(2)
3)
(4)

T
TyH A T Sl A e

oo oA w7 GE |

T H WA T T W e A R |

e 4150 T i e 3 ym A W

YITFE 55 3 99 25 I B, @ 9w 2
#ra faa o fawel § | WA I W 9 i
(A)-(ID), (B)-(IID), (C)-(I), (D)-(IV)
(A)-(III), (B)-(ID), (C)-(IV). (D)-(I}
(A)-(IID). (B)-(IV). (C)-(D. (D)-ID
(A)-(ID). (B)-(IV), (C)-(III), (D)-(T)

T-1I

I 19
(I 75
(III) 1035
aw) 2

[Question ID = 2703][Question Description = Q25_GP_Set8_51_5hift2]
1. 1 [Option ID = 10809]
2. 7 [Option ID = 10810]
| 2 1 fAntice 0 - 408141



